Money Word Problems: At the Baker’s
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                                                                                               Show your work here
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Croissant





£1.89





£1.35





French stick





White loaf
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Muffin





£1.18





£2.25





Pretzel





Bread ring















































If you buy one of everything in the baker’s shop,


 how much money do you spend? 

















Which is cheaper? 


1. A pretzel and a French stick, 


                      or


2. A croissant and a muffin?
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You have £6. You need 6 croissants. How much do you spend altogether?                            Can you afford another 


                                                                  croissant?





You buy two things in the baker’s. One is a bread ring. You spend £4.14. What else do you buy?





You have £3.00. How many croissants can you buy?


 


How much change will you get?





If you buy a French stick and 2 muffins, how much do you spend?


How much change do you get from £10?








Your mum gives you £5 and asks you to buy as many white loaves as you can. How many can you buy? 





If there is any change, how much is there?














